g 8 A A

S FoIHED)
MM 2| ZMELE, HASS MHOEXY
ool HASSCIZHINA(A220IBTLSBEIH) (ol a2
SA-3Y - SRA(SAH) - MRAY - BES Off &K N3 HnsZ
Zoig=1) 917,471 968,346 A50,875
2 98,317 163, 159 N54,842
= 24,579 38,289 A13,710
= 794,575 776,898 17,677
2WVDIZMSIY, HASS MBI 866,805 950,346 83,541
2 98,317 163, 159 N54,842
= 24,579 38,289 A13,710
2 743,909 758,898 A14,989
HASZoI2HIXA(A2Z0IZTLSHEH) 866,805 950,346 83,541
2 98,317 163, 159 A54,842
= 24,579 38,289 A13,710
2 743,909 758,898 A14,989
BEENEPEEIEEENTE) 108,640 177,762 269,122
= 8,912 142,210 755,208
= 21,728 3,562 A13,824
307 L1201 108,640 177,762 269,122
2 8,912 142,210 755,298
= 21,728 3,552 A13,824
NEEEEER 108,640 177,762 769,122
0 #2304l 108,640 177,762 £69,122
= 8,912 142,210 755,208
= 21,728 3,562 A13,824
EEENEP L CEECIREL AR 743,909 743,898 11
308 KX SISO 743,909 743,898 11
07 RXISH RS2 743,909 743,898 11
0 B0 TBH L 2ILLYTS 2HIPY
2 743,909 743,898 11
ARIIZREl ®LHA O (22l Abeitl) 0 15,000 215,000
101 124l 0 15,000 A 15,000
03 BRH (R 22N S 0 15,000 15,000
0 Zoag 0 15,000 A15,000
0 BB 0 2,640 £2,640
RCCLEESS= 0 2,160 A2,160
0 HEAY 0 1,680 A1,680
0 FHEIII(2) 0 5,400 5,400
0 HeFALY 0 3,120 ~3,120
JRZOIZALE (IR0 #R2F HH) 14,256 13,686 570
2 11,405 10,949 456
= 2,851 2,737 114
101 124l 5,040 6,240 A1,200
=2 4,082 4,99 960
= 1,008 1,248 A240
REEEIEBPTESEEP IR 5,040 6,240 1,200
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